(1/1)

J#%
—F7RAKX=w
T % % W F X K
id & *fﬂ%%’ﬁéﬁuu&ﬁTEﬁ%\é*ﬁ
1

04-8555 HURTERH X\ THE 1 TH 6%F 15

HEiH 03—4413—1134 (&)

FAX 03—3552—-6107

JPI 752300 797H
Ti#1 8 3 9R fFx/IMhiiftt v 3

MPOVEE | W | AR | AR | S AE Ly VN B /N h“ .
® | e | | AR | s | ET ’ 530) b2 ?;;L/I{}l\
D, D, Dy Dy (kN) (N-m) (N+m)
1/2 17 23 33 53 17.2 10.9 1/2-13UNC 12.1 M14 X2
3/4 23 29 41 66 25.9 20.5 5/8-11UNC 20.7 M16 X2
1 30 36 48 73 31.0 24.6 5/8-11UNC 24.8 M16 X2
1-1/4 41 47 60 82 43.1 34.2 5/8-11UNC 34.5 M16 X2
1-1/2 45 53 68 95 55.9 53.2 3/4-10UNC 55.9 M20 X 2.5
2 58 66 82 111 77.1 30.6 5/8-11UNC 30.8 M16 X2
2-1/2 71 81 97 129 100.9 48.0 3/4-10UNC 50.4 M20 X 2.5
3 91 101 117 148 136.9 65.2 3/4-10UNC 68.4 M20 X 2.5
3-1/2 100 112 130 164 170 80.8 3/4-10UNC 84.9 M20 X 2.5
4 115 127 146 180 209 99.8 3/4-10UNC 104.7 M20 X 2.5
5 141 153 175 215 297 141.6 3/4-10UNC 148.7 M20 X 2.5
6 166 182 206 250 402 127.5 3/4-10UNC 133.9 M20 X 2.5
8 220 236 260 307 596 221 7/8-9UNC 238 M24 X3
10 267 287 314 360 844 268 1-8UNC 285 M27 X3
12 321 341 371 420 1,144 409 1 1/8-8UN 429 M30 X3
14 351 371 403 484 1,333 381 1 1/8-8UN 400 M30 X3
16 402 422 460 539 1,718 545 1 1/4-8UN 567 M33 X3
18 455 483 523 595 2,169 574 1 1/4-8UN 597 M33 X3
20 504 534 574 652 2,562 678 1 1/4-8UN 704 M33 X3
22 559 591 631 704 3,038 965 11/2-8UN 987 M39 X3
24 610 642 682 774 3,498 1,111 1 1/2-8UN 1,137 M39 X3
sk d/ N AT B K OB/ IR AT BV 703 T A M 39. 2 N/mm® 2 B 2 72 OIS ML B 7R A B

KN JIS B 8265

CHEESN7=Wm,, Wm,

(m=3.00, y=58.8 N/mm’, P=7.8 MPa) ® 9

H, MOBREIWVWWEMLO M7 ELTEY £75,

WD FEREofHE, ERBIEICEEFEEEE LiEEy THALE SN,
H2)  E/NEERE BV, ww%éﬁz 0.2 ELTCHEHLTEBY £,
BT G*V*léﬁSﬁi £z} A
: e g ® e gn 40 - m
YERAEH H 2012 4F 10 A 16 A oy N i

—FPABRSY




